

RSA Section 1

2054-RSA-10410-0-1



Event or Exercise	event	New or Amendment	New
Date	4/16/2021 12:37:49 PM	Assisting State	NE
Event	MN Chauvin Trial		

Resource Request

Requesting State:	MN							
Mission Description:	Law Enforcement Mobile Field Force to protect key state facilities							
Resource Description:	One (1) each Type 1 law enforcement mobile field force team, 40 personnel with equipment. Partial offers will be entertained.							
Mission Type/Source:	State Type/Status Law Enforcement							
NIMS Type:								
Job Position Qualifications:								
Date to Report for Duty	4/20/2021 Demobilization Date: 5/3/2021							
Working Conditions	Normal - Infrastructure & Support services operational							
Comments:								
Living Conditions	Normal - All amenities available							
Comments:	Assisting state will need to arra	ange lodging						
Logistics Comments								
Health & Safety Concerns								
	No Safety or Health Concerns	have been Identified						
	Immunizations or Vaccinations	are suggested to deploy						
X	Environmental Hazards Exist							
X	Personal Protection Equipmen	t Needed						
Safety Concerns & Comments	Possible civil unrest situation							

Offer of Assistance

Tracking Information

Assisting State Tracking #: NEMA-2021APR-MN-	Assisting Agency:	Nebraska State Patrol
--	-------------------	--------------------------

Mission Timeframe

Mission Start Date:	4/19/2021	Date Arrive in Requesting State:	4/19/2021
Demobilization Date:	5/4/2021	Mission End Date:	5/4/2021

Duty Length:	16					
--------------	----	--	--	--	--	--

Mission & Resource Description

Mission Description	1. Provides crowd management and crowd control, including: a. Saturation patrols b. Area search c. Perimeter control d. Staffing for traffic control points e. Security at critical facilities f. Demonstrator and protestor escort g. Protective front-line formations 2. Maintains order and preserves the peace 3. Arrests law violators 4. Promotes traffic safety and enforces vehicle and traffic laws 5. Provides support for: a. All-hazards risks and events b. Natural disasters c. Fires d. Terrorist incidents e. Crime scene protection
Resource Description	NSP will deploy 23 sworn Troopers made up of SWAT and Mobile Field Force along with leadership and logistics support. This team will include marked and unmarked transportation, a command vehicle and power generation. Lethal and less lethal force options are redily available by trained operators. Officers will be equiped in typical Mobile Field Force protective gear, protective masks, helmets and shields, with body worn cameras and compatible communications gear.
NIMS Type:	Law Enforcement Operations - Mobile Field Force - Type 2
Job Position Qualifications:	
Equipment Requirements	NSP and MSP are coordinating communications capabilities. There may be a need for 23 radio's if our current radio capabilities are not compatible.
Equipment Maintenance & Rehabilitation Requirements	Oil changes for vehicles and generator set. Equipment costs were built with the estimate that all consumable equipment (e.g. non-lethal crowd dispersion tools) will be depleted and replaced. In other words, this EMAC offer, includes an estimate of the maximum possible equipment cost, and (upon EMAC mission completion) the final cost will only include the equipment that is actually consumed and needs to be replaced.
Space and Size Requirements	
Limiting Factors	NSP requests that Nebraska Tropers be sworn in by the Superintendent of Bureau of Criminal Apprehension under Minnesota Statute 299C.03
Needed Logistical Support	
Certification/Licenses	Certified Law Enforcement Officers
Personnel Rotation Requirements	After 16 days and as needed in cases of emergency

Total Mission Estimated Costs

Travel:	\$64,212.00
Personnel:	\$289,350.72
Equipment:	\$39,209.80
Commodities:	\$3,846.65
Other:	\$0.00
EST. TOTAL COST:	\$396,619.17
Personnel Assigned to Mission:	23

Travel

Personal Vehicle Costs: Rental Vehicle Costs	\$0.00	Gvt. Vehicle Costs:	\$5,460.00
--	--------	---------------------	------------

Air Travel Costs:	\$0.00	Meals & Tips (Receipt):	\$0.00	Meals & Tips (Per Diem):	\$27,968.0 0	
Lodging:	\$30,784.00	Parking Fees:	\$0.00	Shipment & Transportation:	\$0.00	
Identify any transportation requirements:		NSP will not have prisioner transportation capabilities.				

Personnel Costs

Name / Phone / Email	Reg. Salary Hourly Rate	Fringe Benefit Hourly Rate	Reg. Hours Worked Per Day	OT Salary Hourly Rate	OT Fringe Benefit Hourly Rate	OT Hours Worked Per Day	# Days	Total Daily Cost	Total Mission Cost
	\$44.7 9	\$18.1 4	8.00	\$67.1 9	\$10.7 5	9.00	16	\$1,204.90	\$19,278.40
	\$40.0 0	\$17.1 9	8.00	\$59.5 8	\$9.53	9.00	16	\$1,079.51	\$17,272.16
	\$30.9 0	\$15.8 7	8.00	\$46.3 5	\$7.42	9.00	16	\$858.09	\$13,729.44
	\$27.5 7	\$15.3 2	8.00	\$41.3 6	\$6.62	9.00	16	\$774.94	\$12,399.04
	\$36.6 0	\$16.8 0	8.00	\$54.9 0	\$8.78	9.00	16	\$1,000.32	\$16,005.12
	\$34.9 9	\$16.5 4	8.00	\$52.4 9	\$8.40	9.00	16	\$960.25	\$15,364.00
	\$28.4 2	\$5.41	8.00	\$42.2 1	\$6.75	9.00	16	\$711.28	\$11,380.48
	\$48.6 7	\$20.8 3	8.00	\$73.0 1	\$11.6 8	0.00	16	\$556.00	\$8,896.00
	\$52.4 8	\$19.2 9	8.00	\$78.7 1	\$12.5	0.00	16	\$574.16	\$9,186.56
	\$34.9 9	\$16.5 1	8.00	\$52.4 9	\$8.40	9.00	16	\$960.01	\$15,360.16
	\$26.8 2	\$15.4 3	8.00	\$39.8 1	\$6.77	9.00	16	\$757.22	\$12,115.52
	\$26.8 2	\$5.38	8.00	\$39.8 1	\$6.77	9.00	16	\$676.82	\$10,829.12
	\$26.8 2	\$15.4 7	8.00	\$39.8 1	\$6.77	9.00	16	\$757.54	\$12,120.64
	\$26.0 5	\$9.03	8.00	\$38.6 5	\$6.57	9.00	16	\$687.62	\$11,001.92
	\$26.0 5	\$9.03	8.00	\$38.6 5	\$6.57	9.00	16	\$687.62	\$11,001.92

\$26.0 5	\$15.3 3	8.00	\$38.6 5	\$6.57	9.00	16	\$738.02	\$11,808.32
\$30.8 2	\$15.8 6	8.00	\$46.2 3	\$7.40	9.00	16	\$856.11	\$13,697.76
\$26.0 5	\$13.3 7	8.00	\$38.6 5	\$6.57	9.00	16	\$722.34	\$11,557.44
\$28.7 7	\$9.51	8.00	\$43.1 6	\$7.34	9.00	16	\$760.74	\$12,171.84
\$25.3 2	\$8.90	8.00	\$37.5 6	\$6.38	9.00	16	\$669.22	\$10,707.52
\$24.4 7	\$15.0 6	8.00	\$36.7 1	\$6.24	9.00	16	\$702.79	\$11,244.64
\$25.3 2	\$8.90	8.00	\$37.5 6	\$6.38	9.00	16	\$669.22	\$10,707.52
\$25.3 2	\$15.2 1	8.00	\$37.5 6	\$6.38	9.00	16	\$719.70	\$11,515.20

Commodity Costs

ID	Commodity Description	Cost Per Item	Quantity	Total Costs
12279	Water, case	\$3.70	672	\$2,486.40
12280	Fuel, generator	\$3.09	32	\$98.88
12281	snacks and electrolytes; palet	\$1,261.37	1	\$1,261.37

Equipment Costs

ID	Equipment Description	Cost Per Item	Qty	Rate Per Day	Qty	# Days Used	Total Cost
35198	2020 Dodge Durango	\$0.00	0	\$335.86	1	14	\$4,702.04
35197	2020 Chevy Tahoe	\$0.00	0	\$335.86	1	14	\$4,702.04
35199	SWAT Truck	\$0.00	0	\$308.70	1	14	\$4,321.80
35200	Small Generator	\$0.00	0	\$22.68	1	14	\$317.52
35201	Dodge Charger police vehicle	\$0.00	0	\$224.70	8	14	\$25,166.40

Other Costs

ID	Other Description	Cost Per Item	Qty	Rate Per Day	Qty	# Days Used	Total Cost	
----	-------------------	------------------	-----	-----------------	-----	-------------------	------------	--

No Costs

Name of EMAC Authorized Representative:	Bryan Tuma		
Signature of EMAC Authorized Representative:	Duma)	Date:	4/19/21



RSA Section 2

2054-RSA-10410-0-2



Event or Exercise	event	New or Amendment	New	
Date	4/16/2021 12:37:49 PM	Assisting State	NE	
Event	MN Chauvin Trial			

Mission

Mission Description:	Law Enforcement Mobile Field Force to protect key state facilities
Resource Description:	One (1) each Type 1 law enforcement mobile field force team, 40 personnel with equipment.
프로그램 - 경도 개념 및 Hore S	Partial offers will be entertained.

Mission Timeframe

Mission Start Date:	4/19/2021	Date Arrive in Requesting State:	4/19/2021
Demobilization Date:	5/4/2021	Mission End Date:	5/4/2021
Duty Length:	16		

Cost Estimate

Total Cost Estimate:	\$396,619.17	,	•	

The Requesting EMAC Authorized Representative certifies the review and acceptance of the offer of assistance contained in RSA Section 1 for the above referenced mission.

Name of EMAC Authorized Representative:	Joseph Kelly	
Signature of EMAC Authorized Representative:	<u> </u>	Date: 4/19/20